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1) &K i :E£ET2.3~4.9C, EE T2 0~6.7COHMIZH > 7=,
2) 4y FET30.6~32.7, JKJET31.9~33.20FMIIH -7,
3) pH:7.8~8.3 Th Vv, KEHKEHEZHIZ L T\,
4) COD (MR FERE) :0.2~1.1 mg/L OHEPHICH Y, KFEH KK
A= LTz,
5) DO (WfFfEsRE) :9.9~11.3 mg/L OHFFHIZH 0, KEEH K HEE 2 5l 72
L CWiz,
6) MEERER  FHEBIZUTOEBNIISH > T2,
U UfgREY v (PO,-P) :1~22 pg/L
T TREESFE (NH,-N) :4~49 g/l
Ay EeEZE % (NO,-N) :2~21 ug/L
R REZE £ (NOs—N) : <1~49 ug/L
7) SS (FFEWE) : 4~22 mg/L O#EIHITH o 77,
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Mol | W [BESE| KR | #4 | pH COD DO [EeseafniEl PO4-P | NHA-N | NO2-N | NO3-N | SS | BHAEE

AEm [ (m) | (C) (mg/L) |(mg/L)| (%) |(ug/L)|Cug/L)|Cug/L)|(ug/L)|(mg/L)| (m)

1] 10:32 0 4.5 32.3] 8.3 1.1] 11.0 105.8 22 49 21 49 12 3.5
6.0 5.5 4.5| 32.6] 8.3 0.7] 11.1 106. 4 5 18 10 21

2| 10:24 0 4.5 32.71 8.3 0.7 11.1 106. 8 4 27 13 37 4 2.0
4.0 3.5 4.5| 32.71 8.3 0.6] 11.1 106.9 7 14 10 13

3| 10:20 0 4.3 32.6] 8.3 0.5 11.0 105. 4 4 13 11 16 4 2.0
2.5 2.0 4.4] 32.7] 8.3 0.7 11.0 105.5 3 11 9 13

4] 10:41 0 3.2| 32.4| 8.3 0.7 11.3 104. 8 2 5 3 1 4| EE =
3.0 2.5 3.2] 32.4] 8.3 0.9 11.3 105.2 4 8 6 <1

5| 10:42 0 2.3 31.9] 8.3 0.6/ 11.3 102. 4 2 13 4 8 4| EE =
2.0 1.5 2.4] 32.2] 8.3 0.7 11.3 102.8 3 7 3 <1

6| 10:10 0 4.1| 32.7] 8.3 0.5 11.1 105. 3 4 6 5 1 8 3.0
7.5 7.0 4.4] 32.8] 8.3 0.6] 11.0 105.8 4 6 6 1

7| 9:40 0 4.3] 32.5| 8.3 0.5/ 10.7 102. 4 2 13 5 6 22| A X
4.0 3.5 4.6| 32.8] 8.3 0.7] 10.6 102. 3 4 10 6 3

8| 9:48 0 3.0 32.3] 8.3 0.6] 11.1 102.8 2 4 2 1 16| A=
3.0 2.5 3.9/ 32.7| 8.3 0.9] 11.1 104. 8 3 7 5 <1

9] 10:56 0 2.7 32.0] 8.3 0.7 11.0 100. 6 3 10 4 6 10 3.5
1.0 3.5 3.1| 32.5| 8.3 0.5 11.2 103.3 3 6 4 <1

10| 8:03 0 2.3 31.7] 8.3 0.7 11.1 100. 3 3 4 3 <1 6| A X
2.5 2.0 2.0/ 31.9] 8.3 0.9] 11.1 99. 8 2 9 6 <1

11| 8:08 0 2.3] 31.6] 8.3 0.7 11.1 100. 2 3 4 3 <1 20 1.5
3.0 2.5 3.2] 32.4] 8.3 0.6 11.0 102. 1 3 7 4 <1

12| 8:11 0 3.1 32.2] 8.3 0.8/ 10.9 100. 2 3 16 5 6 8 3.0
3.5 3.0 4.2| 32.6] 8.3 1.1] 10.7 102. 1 3 9 6 1

13[ 8:20 0 2.4] 31.8] 8.3 0.5 11.0 99.5 2 7 4 <1 8| K &
3.0 2.5 2.8 32.1] 8.3 0.5 10.9 100.0 2 6 3 <1

14| 10:00 0 3.8/ 32.7| 8.3 0.5 11.2 105.9 3 11 5 7 4 3.5
4.0 3.5 4.2| 32.8] 8.3 0.5 11.2 106.5 3 6 5 2

15| 10:29 0 4.5 32.6] 8.3 0.5 11.0 105. 8 8 13 10 13 6 3.0
4.5 4.0 4.5| 32.6] 8.3 0.6] 11.1 106. 4 8 12 10 11

16| 9:28 0 2.3 31.9] 7.8 0.6 11.1 100.0 1 7 3 1 6| & x
1.5 1.0 2.3 32.0] 7.9 0.6] 11.1 100. 1 2 9 5 <1

18] 8:41 0 4.9] 32.2] 8.3 0.8 10.1 97.4 3 12 8 6 12| A=
2.5 2.0 5.4] 32.8] 8.3 0.8] 10.0 98.5 3 14 12 3

19| 8:55 0 3.1 30.6] 8.3 0.4 10.8 98.5 6 11 7 17 12 3.0
1.0 3.5 6.7 33.2] 8.3 0.2 9.9 100. 4 4 22 17 17
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